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suppose we have the additional infor-
mation that the population of spilake in 2004 was
estimated to be 5000. Use a logistic model to esti-
mate the population of splake in the year 2020, What
ig the predicted limiting population? [Hint: Use the
formulas in Problem 12.]




in 1990 the Department of Naturai Resources
released 1000 splake (a crossbreed of fish) into a
lake. In 1997 the population of splake in the lake
was estimated to be 3000. Using the Malthusian law
for population growth, estimale the population of
splake in the lake in the year 2020.
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